CHAPTER 7:  THE COST OF PRODUCTION
Checklist

Can you do the following regarding cost of production?
· Compare accounting cost to economic cost
· Compare opportunity cost to sunk cost
· Compare fixed cost to variable cost
· What is Total cost?
· Compare marginal cost to average cost
· Define average fixed cost
· Define average variable cost
· Define isoquant
· Define isocost
· What is the price of capital?
· What is the rental rate of capital?
· Define expansion path
· Explain inflexibility of SR production
· Define Economies of scale and diseconomies of scale
· Define Economies of scope and diseconomies of scope
· Define the product transformation curve


CHAPTER 7:  COST OF PRODUCTION
A firm’s cost
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CHAPTER 7:  COST OF PRODUCTION
Relationship between production and cost
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CHAPTER 7:  COST OF PRODUCTION
Isoquant and Isocost lines
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CHAPTER 7:  COST OF PRODUCTION
Choosing inputs
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CHAPTER 7:  COST OF PRODUCTION
LR and SR Expansion path
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CHAPTER 7:  COST OF PRODUCTION
Inflexibility of SR production
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CHAPTER 7:  COST OF PRODUCTION
LR and SR cost curves
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CHAPTER 7:  COST OF PRODUCTION
SR vs. LR costs
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CHAPTER 7:  COST OF PRODUCTION
Product Transformation curve
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FIGURE 7.4 Input Substitution When an Input Price Changes

Facing an isocost curve C;, the firm produces output g, at point A using L, units of
labor and K, units of capital. When the price of labor increases, the isocost curves
become steeper. Output g, is now produced at point B on isocost curve C, by using
L, units of labor and K, units of capital.
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FIGURE 7.6 A Firm’s Expansion Path and Long-Run Total Cost Curve

In (a), the expansion path (from the origin through points A, B, and C) illustrates the |

lowest-cost combinations of labor and capital that can be used to produce each level |

of output in the long run—i.e., when both inputs to production can be varied. In (),

the corresponding long-run total cost curve (from the origin through points D, E, and |
| F) measures the least cost of producing each level of output.

Long-Run Total Cost




image6.png
Capital
per ¢
year

Long-Run
Expansion Path

Ak,
Koy |- = N e m
: Short-Run
Expansion Path
S

92

i
1
1
1
|

Ly Ly B Ls D F
Labor per year

FIGURE 7.7 The Inflexibility of Short-Run Production

* When a firm operates in the short run, its cost of production may not be minimized
because of inflexibility in the use of capital inputs. Output is initially at level g,. In the
short run, output g, can be produced only by increasing labor from L, to L, because
capital is fixed at K}. In the long run, the same output can be produced more cheaply
by increasing labor from L, to L, and capital from K, to K.





image7.png
Cost
(dollars
per unit

of output)

, LMC

Output

FIGURE 7.8 Long-Run Average and Marginal Cost

When a firm is producing at an output at which the long-run average cost LAC is
falling, the long-run marginal cost LMC is less than LAC. Conversely, when LAC is
increasing, LMC is greater than LAC. The two curves intersect at A, where the LAC
curve achieves its minimum.
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FIGURE 7.9 Long-Run Cost with Economies and Diseconomies of Scale

- The fong-run average cost curve LAC is the envelope of the short-run average cost
curves SAC,, SAC,, and SAC,. With economies and diseconomies of scale, the minimum
points of the short-run average cost curves do not lie on the long-run average cost curve.
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FIGLURE 7.10 Product Transformation Curve

The product transformation curve describes the different combinations of two
outputs that can be produced with a fixed amount of production inputs. The product

| transformation curves O; and O, are bowed out (or concave) because there are
economies of scope in production.
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£IGURE 7.1 Cost Curves for a Firm

In (a) total cost TC is the vertical sum of fixed cost FC and variable cost VC. In
(b) average total cost ATC is the sum of average variable cost AVC and average fixed !
cost AFC. Marginal cost MC crosses the average variable cost and average total cost

curves at their minimum poin :
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FIGURE 7.3 Producing a Given Output at Minimum Cost

Isocost curves describe the combination of inputs to production that cost the same
amount to the firm. Isocost curve C; is tangent to isoquant ¢, at A and shows that out- |
put 4, can be produced at minimum cost with labor input L, and capital input K;. Other
input combinations—L,, K, and Ly, Ky—yield the same output but at higher cost.





